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Roll No........ccveenenen.

Time allowed : 3 hours Maximum marks : 100
Total number of questions : 6 Total number of printed pages : 7
NOTE : 1. Answer ALL Questions.

2. Tables showing the present value of ¥1 and the present value of an annuity of
<1 for 15 years are annexed.

1. Comment on the following :

@
(b)
©

©)

Current assets are financed by current liabilities.
Commodity trading causes high level of inflation.

Economic Value Added (EVA) concept is in conformity with the objective of wealth
maximisation.

Higher financial leverage is better than higher operating leverage.
(5 marks each)

Attempt all parts of either Q.No. 2 or Q.No. 2A

"The investors behaviour criterion provides framework for analysis of risk-return
choices’ — Markowitz. Do you agree ?

(4 marks)
(b) Distinguish between 'sensitivity analysis and 'scenario analysis.
(4 marks)
() The time value of money concept is needed to maximise wealth.
(4 marks)
(d) Distinguish between 'interest rate parity' and 'purchasing power parity'.
(4 marks)
OR (Alternate question to Q.No. 2)
2A. (i) Describe participants in the foreign exchange market.
(4 marks)
(i) How does capital asset pricing model (CAPM) help in estimating expected rate of return
of a security ?
(4 marks)
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(iii) Explain the net income approach to capital structure.
(4 marks)
(iv) How do firms manage required level of receivables ?

(4 marks)
Attempt all parts of either Q.No. 3 or Q.No. 3A

3. (@ A financia literacy house buys 72,000 reams of a specia type paper per annum at a
cost of 90 per ream. Ordering cost per order is I500 and the carrying cost is 5%
per year of the inventory cost. Normal lead time is 20 days and safety stock is nil.
Assume 300 working days in a year.

You are required to —
() Calculate the economic order quantity (EOQ);
(i) Calculate the re-order inventory level; and
(i) If 1% quantity discount is offered by the supplier for purchases in lots of 18,000
reams or more, should the buyer accept the proposal ?
(4 marks)

(b) Ravi buys 10,000 shares of FPS Ltd. @ %22 per share and obtains a complete hedge
of shorting 400 Nifties at 1,100 each. He closes out his position at the closing price
of the next day at which point the shares of FPS Ltd. have dropped by 2% and the
nifty future has dropped by 1.5%. What isoverall profit or loss of this set of transactions ?

(4 marks)

(©) Queen Ltd., an Indian company, has an export exposure of ¥ 100 lakh value at
September end. Yen is not directly quoted against rupee. The current spot rates are
INR/USD = 62.685 and JPY/USD = 194.625. It is estimated that Yen will depreciate
to 216 level and rupee to depreciate against dollar to 64.50. Forward rate for
September, 2013 was JPY/USD = 206.025 and INR/USD = 64.335. If the spot rate
on 30" September, 2013 was eventually INR/USD = 64.17 and JPY/USD = 206.775,
is the decision to take forward cover justified ?

(4 marks)
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(d) Monoplast Co. Ltd. has the following capital structure on 31" March, 2013 :

<
Equity shares (4,00,000 shares) 80,00,000
10% Preference shares 20,00,000
14% Debentures 60,00,000

1,60,00,000
Share of the company sells for %20.

It is expected that company will pay next year a dividend of 2 per share which will
grow at 7% forever. Tax rate is 30%.

You are required to compute weighted average cost of capital.
(4 marks)
OR (Alternate question to Q.No. 3)

3A. (i) The following quotes are available for 3-month options in respect of a share currently

traded at 31 :
¢
Strike price 30
Call option 3
Put option 2

A funds manager devises a strategy of buying a call and selling the share and a put
option. Draw his profit/loss profile if it is given that the rate of interest is 10% per annum.
What would be the profit/loss if the strategy adopted is selling a call and buying a put
and a share ?

(4 marks)
(i) Your client is holding following securities as proxy of market portfolio :
Particulars of Purchase Dividends Expected Market BETA
securities Price (9) (9 Price after B)
1 year (?)
Equity shares :
Company-A 8,000 800 8,200 0.80
Company-B 10,000 800 10,500 0.70
Company—-C 16,000 800 22,000 0.50
PSU bonds 34,000 3,400 32,300 1.00
1/2014/FTFEM (N/S) PT.O.

335/2



335

Assume a risk free rate of 15%.
Calculate expected rate of return in each, using capital asset pricing model if shares are
held for 1 year.
(4 marks)
(i) Priyanka Corporation has financial structure of 30% debt and 70% equity. The company
is considering various investment proposals costing less than 30 lakh. The corporation
does not want to disturb its present capital structure.

The cost of raising the debt and equity are as follows :

Project Cost Cost of debt Cost of equity
Upto 5 lakh % 13%
Above X5 lakh and upto 320 lakh 10% 14%
Above 20 lakh and upto %40 lakh 11% 15%

If tax rate is 30%, you are required to calculate the cost of capital of two Projects
A and B whose funds requirements are I8 lakh and 21 lakh respectively.
(4 marks)
(iv) The earning per share of a company is X10. It has an internal rate of return of 15%
and the capitalisation rate of risk class is 12.5%. If Walter's model is used —
(@ What should be the optimum payout ratio of the firm ?
(b) What should be the price of a share at this payout ?
() How shall the price of a share be affected if different payouts were employed ?
(4 marks)
4. (a) Seven Wings Ltd. has been engaged in manufacturing of garments. It has current sales
of ¥30 lakh per annum. The cost of sales is 75% of sales and bad debts are 1% of
sales. The cost of sales comprises 80% variable cost and 20% fixed cost while the
company's required rate of return is 12%.

The company currently allows customers 30 days credit. But the company is now
considering increasing the credit period to 60 days credit in order to attract more customers.

It has been estimated that this change in policy will increase sales by 15% while bad
debts will increase from 1% to 4%. It is expected that the policy change will not result
in any increase in fixed cost, creditors and stock level.

Should Seven Wings Ltd. introduce proposed policy ?
(8 marks)
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Simon Ltd. is considering two mutually exclusive projects. Investment outlay of both
the projects is X5 lakh and each is expected to have a life of 5 years. Under three
possible situations their annual cash flows and probabilities are as under :

Stuation Probabilities Project-A Project-B
cash flow (?) cash flow (¥)
Good 0.30 6 lakh 5 lakh
Normal 0.40 4 lakh 4 lakh
Worse 0.30 2 lakh 3 lakh

If the cost of capital is 7%, which project should be accepted ? Consider the risk parameter
also in decison making. Explain with workings.
(8 marks)

(@ Financial management means the management of finances of a business organisation in
order to achieve financial objectives. Elaborate the financial objectives of a firm.
(4 marks)
(b) What is a financial lease ? How is it different from sale and leaseback ?
(4 marks)
() What factors are to be considered while deciding the financial and commercial viability
of a project ?
(4 marks)
(d) Describe briefly the different roles of treasury manager in overall functioning of a firm.
(4 marks)
Write notes on the following :
(@ Mark-to-market process
(b) Asset backed securitisation
(¢) Currency derivatives
(d) Financial insolvency.
(4 marks each)

(@)
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